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Chapter 2 Test

Calculator required Score
Round all answers to 3 decimals
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1. Sketch one cycle of y=-3+ QCOS{-Z—I(x + 1)} P -
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2. Sketch one cycle of y=—1+ 4sm[ﬁ(x~ 3)}

?:S"\




e} Sketch one cycle of y=2— 23in|i€
o

> (x—l—ﬂ:)}

4. Sketch one cXcle of y=—2+cot{% (x+l)}
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5. Find one cosine and one sine equation for this graph:
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6. If g(x) =1+4cos {%(x —1 3)} find the first three alues of x

where g(x)=-1.3.
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% A precalc student who is trying to do homework has a little brother who is
annoying him by coming annoyingly close to him and saying “I’m not touching
you”. Rather than swatting away his annoying sibling, he notices that the distance
between his brother’s fingertip and his body is varying sinusoidally with time.
When the student starts timing, the fingertip is 1 cm away from him, the closest
that it gets. 1 second later, the fingertip is the furthest away, 11 cm. The brother’s
annoying antics continue in that fashion.

a. Sketch one cycle of the situation
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b. Create an equation that models the distance d in terms of time 7.
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& Find the first 3 times that his fingertip is 2.4 cm away from the student.
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